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2022
ECONOMICS

Paper : ECO-HC-6016
( Indian Econoniy—ll )

( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :
1x10=10

©ofq ARCARA B e w=oiR e fan

(a) Mention one objective of Indian fiscal
policy. .
SRS A AT o7 Sy By 41 |

(b) What is repo rate of the RBI?
SO {5 AR @’ @6 &2
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(2)

State one direct instrument of Indian
monetary policy.
SRS AN BT 2op Sf2e Sowd 41 |

What is meant by financial inclusion’?
‘e swyeeas’ I & @ w2

Give the meaning of TForeign Direct
Investment’.

‘epor® (I R’y sy fo 1

What is capital formation in
agriculture?

FR© P 9107 {92

Give the meaning of ‘minimum support
price’ of agricultural produce.

- giRETe TEAR ey AT T oY foe |

State one reason for the growth of
service sector in India recently.

HPeRASF TS SHSA CRRNGI REMH 957 T
e 41 |

What is agricultural productivity?
IR BesrAeTe! {2

Mention one method of public sector
disinvestment.

eEAl 393 MR 951 21fer Sy <07 |

( Continued )

D e Al AT
| :
:
a

(3)

(k) Define the concept of ‘sustainable
agriculture’.

e P YRCOR e il |

() What is diversification of industries?
g fomee 2

(m) State one main objective of the
Minimum Wages Act, 1948 by the
Indian Government.

35 8b 5[0 SRS BRI 2SI e TR
w2 6T e o) BeEs

(n) What kind of manufacturers are called
small-scale industries?

B qq99 TeoEE papred ool Jf Rl
=7

(o) Define monetary policy.
TS Ffeq F il |

2. Answer any five from the following questions
in brief : 2x5=10

s i e i e oo 53 T il

(a) Distinguish between fiscal deficit and
primary deficit.
R q oF 2fE oI W AL
fAefa 391 |
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(b)

()

(d)

(e)
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(£4=)

Write two characteristics of small-scale
industries.

=5 TraIsId HO1 CIIET foid |

Write two merits of GST.

GST 9 o1 e o1 |

What is demonetization? Mention one
positive effect of demonetization in the
Indian economy. )

Ragresd (€2 S8y 93Fioe RyueaR b
YR O] ey 41 |

Write any two measures undertaken
by .the Government of India to improve
agricultural marketing.

R 9 IR TR A SHS TR 2
91 R AT 701 “fe=] o |

';;;tiaxy sector in India employs two
erent kinds of people. Wh
Pe P o are

SRSY CARYR WO RSH @7 Wz fexs
I | (OSTTR R ?

( Continued )

()
Competition Policy of India.
SReT B fecupenEE AMes Tl ST
e 41|

(h) State any two problems of Public Sector
Enterprise of India.
SR el <99 SoeE R G 5ol e
O 91

3. Answer any four from the following

questions : 5x4=20

w7 fimn eprE R CeTeA Do S i :

(a) Explain any five instruments of fiscal
policy in India.
SHed R A R @Al bl S
[ <A1 :

(b) Discuss the tools of monetary policy
of India.
SReq JEINST SIEAPTIR T 1|

(c) Explain the initiatives taken by the
Government to ensure that farmers get
remunerative prices for their produce.
@ @SE Tedlfte AR T T
ffoeeaR S DI GIIEI SOPRR I
<41

22A/852 ( Turn Over )

(S5

Mention two objectives of the National




@

(e)

(g)

(h)
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Point out the various labour policies
of India.

SeF Kfew 2 Moo wghm f |

Workers are exploited in the
unorganized sector. Do you agree with
this view? Give reasons in support of
your answer.

PReifde e Afiemz CTRe W1 PR @3
?ﬁquwmwm@
|

What is agricultural mechanization?
Explain the role of technology in Indian
agriculture.

IR AT B2 o9Oy o xRN
SR 1 47|

?)iscuss the role of small-scale
industries in Indian economy.

4l

Point out the main features of Indian
tax system.

SO I TR T HAEPTR g fra |

( Continued )

(7))

4. Answer any four from the following

questions : 10x4=40

ware il e R el v e i -

(a) Critically discuss the role of agriculture

in the economy of India. 10
SREE wdAifoe FRI PHFN FACEDATATEICL
S[Cetel S0 |

(b) Discuss the problems and remedies of
small-scale industries of India. 5+5=10
SR Fa SCOPERA W AE S
ToARPRR el 911

(c/ What is service sector? Analyze the
performance of service sector of India
during post 1990’s. 2+8=10
cHde 2 ssvo TR RS SHEd CRRYS
ey e [T <4 |

(d) Explain the role of foreign investment

10

in the economy of India.

e SdRfe cawe RfsE S T
Fq0 1
(e) Give an outline of the various
- macroeconomic policies of India. 10
sred Rfvs A SAee [fea ewe
AP 1 |
( Turn Over )
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(8)

(/i Give an assessment of the Government
policy towards foreign investment. 10

woe RE@sR crae ey Aifes «fb
TP 9RO |

(g) Point out the various shortcomings of
the monetary policy of India. Suggest
some remedial measures. 6+4=10

ST JuAites f[Riea PPz SgferE i |
SPIREPTR AR A1eq g s fie |

(h) Explain the causes of low productivity
of Indian agriculture. Give some
suggestions to increase agricultural
productivity. 6+4=10

SO FRI [ TeomTg FREPTHR W
PRI TeomEREel Jfad qCd A e,
Gl

(i Discuss the role of public sector
industries in the economic development

of India. 10
SRYY ST Trae qEEdl 999 Tounse
SR STl 1 |

() What is agrarian structure? Outline the
agrarian structure of India. _4+6=10
RS S 72 SHe IR S e
HICEATRATS <941 |

* % *
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